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MATHS

BOOKS - NIKITA MATHS (HINGLISH)

PAIR OF STRAIGHT LINES

MULTIPLE CHOICE QUESTIONS

1. Second degree homogeneous equation in x and y

always represents

A. a circle


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D1CmzVK60lmx

B. a parabola

C. an ellipse

D. a pair of straight lines

Answer: D

o Watch Video Solution

2. The condition of representing the coincident
lines by the general quadratic equation f(z,y) = 0

, 1S

A.A =0,h? = ab


https://dl.doubtnut.com/l/_D1CmzVK60lmx
https://dl.doubtnut.com/l/_ggjx8BLelNUO

BA=o0,a+b=0
C.A=0,h?®=ab g° =ac, f> =bc

D.h? = ab, ¢ = ac, f* = be

Answer: C

o Watch Video Solution

3. If in the general quadratic equation
f(x,y) =0,A =0 and h?=ab, then the

equation represents.

A. two straight lines


https://dl.doubtnut.com/l/_ggjx8BLelNUO
https://dl.doubtnut.com/l/_VH0uT1c5aqY2

B. two parallel lines

C. two perpendicular lines

D. two intersecting lines

Answer: B

o Watch Video Solution

4. If my and my are the slopes of the lines
represented by axz® + 2hzy+ by? =0, then

ml—l—mg:

2h
A —
a


https://dl.doubtnut.com/l/_VH0uT1c5aqY2
https://dl.doubtnut.com/l/_e2XOhlEDZQsr

Answer: D

o Watch Video Solution

5. If m; and my are the slopes of the lines
represented by axz® + 2hzy+ by? =0, then

mimsy =

a
A —
b



https://dl.doubtnut.com/l/_e2XOhlEDZQsr
https://dl.doubtnut.com/l/_D74VPABVg0BX

Answer: A

o Watch Video Solution

6. If 0 is the angle between the lines represented by

az’ + 2hzy + by? = 0, then tanf =

2 _
AL h ab

a-+b

2 _
B.:I:\/h 4ab

a+b


https://dl.doubtnut.com/l/_D74VPABVg0BX
https://dl.doubtnut.com/l/_aXR1IM65EgXf

2v/h2 — ab
a+b

2vh? — 4ab

a+b

Answer: C

o Watch Video Solution

7. The lines represents by az’ + 2hzy + by =0

are perpendicular to each other , if

A h? = ab

B.ab=1


https://dl.doubtnut.com/l/_aXR1IM65EgXf
https://dl.doubtnut.com/l/_XSIxYMemYYjF

Answer: C

0 Watch Video Solution

8. The product of perpendiculars let fall from the
point (z1,y;) upon the lines represented by

az® + 2hzy + by, is

az? + 2hzy; + by?
V(@ —b)? — 42

aw% + 2hxiy1 + by%
V(@ —b)? + 42



https://dl.doubtnut.com/l/_XSIxYMemYYjF
https://dl.doubtnut.com/l/_tUrwCgA8fNas

ax? + 2hzy; + by?
V(@ +b)? — 42

a:z:% + 2hx1y1 + byf
\/(a +b)° + 4h2

Answer: B

0 Watch Video Solution

9. If az’+2hzy+by’+29z+2fy+c=0

represents parallel straight lines, then

A.abc + 2gfh — af® — bg* —ch? = 0

B.h2 —ab =0


https://dl.doubtnut.com/l/_tUrwCgA8fNas
https://dl.doubtnut.com/l/_1SA5wvWzLBu5

C.h? > ab

D.h% < ab

Answer: A

° Watch Video Solution

10. If the equation
ax® + 2hzy + by* + 29z + 2fy +c =0

represents a pair of parallel lines, then

% >
SHESIISHES
S| | o
| ©|w


https://dl.doubtnut.com/l/_1SA5wvWzLBu5
https://dl.doubtnut.com/l/_vjGtbTyW81My

ce_h_9g
h b f
ph_b_49
a h f
Answer: C

o Watch Video Solution

11. If the equation
az® + 2hxy + by® + 29z + 2fy +c = 0

represents a pair of parallel lines, then

2 _
Ao |9 — 9
h? + a?
2 _
g [9 —a°
h2 + a2


https://dl.doubtnut.com/l/_vjGtbTyW81My
https://dl.doubtnut.com/l/_IN4HKkdUXOFV

g% + ac
h? + a?

2
o |9 Tac
h2 + a2

Answer: A

C.2

o Watch Video Solution

12. Lines represented by 4z + 4zy + y* = 0 are

A. real and distinct
B. real and coincident
C.imaginary

D. perpendicular


https://dl.doubtnut.com/l/_IN4HKkdUXOFV
https://dl.doubtnut.com/l/_6lh2VV4mMEPd

Answer: B

o Watch Video Solution

13. Lines represented by z* — 4> = O are

A. real and distinct
B. real and coincident
C.imaginary

D. parallel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6lh2VV4mMEPd
https://dl.doubtnut.com/l/_ObMeBfqo7e9I

14. Lines represented by z? + Tey + 2y*> = 0 are

A. real and distinct
B. real and coincident
C.imaginary

D. perpendicular

Answer: A

o Watch Video Solution

15. Lines represented by 2% + 2zy — y®> = O are


https://dl.doubtnut.com/l/_ObMeBfqo7e9I
https://dl.doubtnut.com/l/_m74uyRC84CGz
https://dl.doubtnut.com/l/_4ziigfI0y8Mb

A. real and distinct

B. real and coincident

C.imaginary

D. parallel

Answer: A

° Watch Video Solution

16. If the lines represented by az?® + 4zy + 4y> = 0

are real distinct, then


https://dl.doubtnut.com/l/_4ziigfI0y8Mb
https://dl.doubtnut.com/l/_kBLbaTC4278k

Ca<l1

D.a >1

Answer: C

o Watch Video Solution

17. if lines represented by equation pz® — qy*> = 0

are distinct, then

A.pg > 0

B.pg < 0


https://dl.doubtnut.com/l/_kBLbaTC4278k
https://dl.doubtnut.com/l/_OJbdYuoVZcSu

C.pg =

D.p+q=20

Answer: A

o Watch Video Solution

18. Lines represented by pxr? — qy2 = 0 are real and
coincident, if

A. p and q have same sign

B. p and g have opposite sign

C.p and q is zero



https://dl.doubtnut.com/l/_OJbdYuoVZcSu
https://dl.doubtnut.com/l/_QBzdSiEs5ePX

D.p # |q

Answer: C

° Watch Video Solution

19. Lines represented by pz® —qy® =0 are
imaginary, if

A. p and g have same sign

B. p and g have opposite sign

C.p and q is zero

D.p # |q|


https://dl.doubtnut.com/l/_QBzdSiEs5ePX
https://dl.doubtnut.com/l/_gSo4G8H9I7pM

Answer: B

o Watch Video Solution

20. Which of the following equation does not

represent a pair of lines ?

Azl—z=0
B.xy —x =0
Cyl—z+1=0

D.zy+x+y+1=0

Answer: C

f ) |


https://dl.doubtnut.com/l/_gSo4G8H9I7pM
https://dl.doubtnut.com/l/_yrG6luvoBDpv

| o Watch Video Solution

21.If I, m, n are in AP, then the line Ix+my+n=0" will
always pass through the point

A(—1,2)

B.(1, — 2)

C.(2,4)

D. (3, 2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yrG6luvoBDpv
https://dl.doubtnut.com/l/_riMbT11hjt7p

22.The separate equations of the lines represented
by the equation 2> — 4y® = O are
Azrz—2y=0and 2z +y =0
B.2r —y=0and z +2y =0
Cx—2y=0and xz+2y=20

D.2r —y=0and 2z +y =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6txYQrQvLHJQ

23. The separate equations of the lines represented
by the equation 3z* — y*> = O are
A3z +2y=0and /3—2y=0
B./3z —y=0and /3z +y =0
C3r—y=0and z+y=20

D.3r+y=0and z —y=20

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xIk47j3nEZld

24. The separate equations of the lines represented
by the equation 5z* — 9y* = 0 are

AbSr —3y=0and bz + 3y =0

B.5x —3y =0 and 5z +9y =0

C.v/3z —3y=10and \/5z + 3y =0

D./5z — 9y =0 and /5z + 9y = 0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jkqFPX0ujaiG

25. The separate equations of the lines represented
by the equation 5z* — 3y* = 0O are
A.\/5x — /3y = 0 and /bz + /3y = 0
B./5z — /3y = 0 and /3z + /by = 0
Chz —3y=0and x+y=0

D.x —y=0and 52 — 3y =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RWe4p9CEKE8X

26. The separate equations of the lines given by
(z —4)* — 16(y — 5)° = O are
Arxz+4y+16=0and ¢ —4y—24=0
Bz +4y—16=0and « —4y—24 =0
Cx+4y—16=0and x —4y+24 =0

Dz +4y+16=0and x —4y+24 =0

Answer: A

° Watch Video Solution

27. Equation y* — z? 4+ 2z — 1 = O represents


https://dl.doubtnut.com/l/_ifeuW2bx3RwZ
https://dl.doubtnut.com/l/_AcF9G0TGTLSM

A. a circle

B. a parabola

C. an ellipse

D. a pair of straight lines

Answer: D

° Watch Video Solution

28. The equation (z+y)° — (2> +y%) =0

represents

A. Two mutually perpendicular lines


https://dl.doubtnut.com/l/_AcF9G0TGTLSM
https://dl.doubtnut.com/l/_WIP7yp9AnJ4O

B. two parallel lines

C. Two lines

D. a circle

Answer: A

o Watch Video Solution

29. One of the lines represented by z? + 6zy = 0 s

A. X-axis
B. Y-axis

C. parallel to X-axis


https://dl.doubtnut.com/l/_WIP7yp9AnJ4O
https://dl.doubtnut.com/l/_oBsqQvGoyVGr

D. parallel to Y-axis

Answer: B

° Watch Video Solution

30. The separate equations of the lines represented
by the equation 2> — 4zy = 0 are
Arxz=0and x —2y=0
Bx =0and x +2y =20
Cx=0and z -4y =20

D.z =0 and  + 4y =0


https://dl.doubtnut.com/l/_oBsqQvGoyVGr
https://dl.doubtnut.com/l/_gtIboflZoA7w

Answer: C

0 Watch Video Solution

31. The separate equations of the lines represented
by the equation y? + Tzy = 0 are

Ay=0and 3x —Ty=20

B.y=0and 3z + 7y =0

Cy=0and 72 — 3y =0

Dy=0and 7Tx + 3y =0

Answer: D

f ) |


https://dl.doubtnut.com/l/_gtIboflZoA7w
https://dl.doubtnut.com/l/_gGtnohkLtHT2

| O Watch Video Solution

32.Separate equations of the two lines jointly given
by ab(x2 — y2) + (a2 — b2)azh = O are

Aar +by=0 and bz +ay =0

B.ax +by =0 and bx —ay =0

C.ar —by=0 and bx + ay =0

D.ar —by=0 and bz —ay = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gGtnohkLtHT2
https://dl.doubtnut.com/l/_xEt4mzyIyV5W

33. Statement -1 : If a > b > ¢, then the lines
represented by
(@ —b)z®> + (b—c)zy + (c —a)y* =0 are real
and distinct.

Statement-2 : Pair of lines represented by
ax® + 2hzy + by? = 0 are real and distinct if

h’ > ab.
Aalb—c)z+cla—by=0and z+y =20
B.a(b—c)r —cla—b)y=0and z —y =10
Cab—cz+cla—by=0and x —y=0

D.a(b—c)z —cla—b)y=0and x+y=0


https://dl.doubtnut.com/l/_VF5Bazn6FWBX

Answer: B

0 Watch Video Solution

34. The equation of the lines represented by
3z — Ty + 4y? = O are
Azxz+2y=0and 3z +2y=20
B.3x —y=0and z —4y =0
Cx—2y=0and 3z —2y=20

Dz —y=0and 3z —4y = 0

Answer: D

f ) |


https://dl.doubtnut.com/l/_VF5Bazn6FWBX
https://dl.doubtnut.com/l/_yJLnagoqniXl

| o Watch Video Solution

35. The equation of the lines represented by
3z% — 10zy — 8y* = O are
Azrxz—2y=0and 3z +4y =20
B.x —4y =0 and 32z + 2y =0
Cx+2y=0and 3z —4y =0

D.z +4y+ 16 =0 and 3z — 2y = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yJLnagoqniXl
https://dl.doubtnut.com/l/_3WU8FN4npttt

36. The equation of the lines represented by
6z — bzy — 6y? = O are

A2r+3y=0and 3z +2y =0

B.2r —3y=0and 3x — 2y =0

C.2x —3y=0and 3z +2y =10

D.2r + 3y =0 and 3z — 2y =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zxcENVsCQCp8

37. The equation of the lines represented by
3z° — 2/3zy — 3y® = Oare
Az —3y=0and 3z +y=0
B.z ++3y=0and 3z —y=0
Cz—3y=0and 3z +y=0

Dz+3y=0and 3z +y =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4hgLIKDrERbr

38. The equation of the lines represented by

zc2+2zcy—y2 = Qare

A

(1++v2)z—y=0and (1-+2)z+y=0
B.

(1++v2)z—y=0and (1-+2)z—y=0
C.

(V24 1)z —y=0and (vV2—1)z—y =10
D.

(1—|—\/§)w—y:Oand (ﬁ—l)az—y:O


https://dl.doubtnut.com/l/_nQNXriyDRbb0

Answer: B

0 Watch Video Solution

39. The equation of the lines represented by

2% + 2zy — y*> = Oare

(1+v3)z+y=0and (1-3)z+y=0

(1++3)z—-y=0and (1-3)z—y=0


https://dl.doubtnut.com/l/_nQNXriyDRbb0
https://dl.doubtnut.com/l/_9Gdc957TQXTl

z—(1-y3)y=0and z— (1—43)y=0

z—(1++3y=0andz+ (1-,3)y=0

Answer: B

° Watch Video Solution

40. The equation of the lines represented by

x> + 2(cos eca)zy + y* = Oare

A (1 £sina)z + 2(cosa)y =0


https://dl.doubtnut.com/l/_9Gdc957TQXTl
https://dl.doubtnut.com/l/_swdWjDhY9C3T

B.(1+ cosa)x + 2(sina)y = 0
C.(1 £sina)z + (cosa)y =0

D.(1+ cosa)x + (sina)y =0

Answer: D

° Watch Video Solution

41. The separate equation of the lines represented

by the equation z? + 2(tana)zy — y*> = 0 are

A.(1+cosa)r —sinay =0

B.(1 £ cosa)x + sinay =0


https://dl.doubtnut.com/l/_swdWjDhY9C3T
https://dl.doubtnut.com/l/_isD6eIgU50Ci

C.(tana + seca)r —y =10

D. (tana +seca)z +y =0

Answer: C

° Watch Video Solution

42. The equation of the whose sum of the
intercepts on the axes is 7 and is parallel to the
common line of the lines represented by the
equation

622 — xy — 12y®> = 0 and 1522 + ldzy — 8% = 0

IS


https://dl.doubtnut.com/l/_isD6eIgU50Ci
https://dl.doubtnut.com/l/_m1OM7GsMbsE1

Adrz +4y+12=0

B.3z —4y — 12 =0

C.3z —dy + 12 =0

D.3z + 4y — 12 =0

Answer: D

° Watch Video Solution

43. The separate equations of the lines represented
by the equation

(x—2°—3(x—2)(y+1) —3(y+1)* = 0are


https://dl.doubtnut.com/l/_m1OM7GsMbsE1
https://dl.doubtnut.com/l/_vdS2CFu9lVr3

Ar—2y—4=0and z—y—3=0

Bx —2y+4=0and x —y+3=0

Cx+2y—4=0andz+y—3=0

Dz +2y+4=0and z+y+3=0

Answer: A

° View Text Solution

44.The separate equations of the lines represented
by the line equation

(x+1)°+(z+1)(y—2) —2(y—2)° =0are


https://dl.doubtnut.com/l/_vdS2CFu9lVr3
https://dl.doubtnut.com/l/_yjzihUhmrdh1

A2 +y—4=0and 5z —3y+1=0

B.2r —y+4=0and bz +3y—1=0

C2r +y+4=0and bx —3y—1=0

D.20 —y—4=0and 5z +3y+1=20

Answer: B

° View Text Solution

45.The separate equations of the lines represented
by the line equation
8(z —1)° +10(z — 1)(y —3) = 3(y —3)* =0

are


https://dl.doubtnut.com/l/_yjzihUhmrdh1
https://dl.doubtnut.com/l/_vQJ6FjujdF6M

Adr +3y+13=0and 22 +y+5=10

B.dr +3y—13=0and 22 +y—5=0

Cdr +3y—13=0and 2z +y+5=0

D.dr +3y+13=0and 22 +y—5=10

Answer: B

° Watch Video Solution

46. The equation
(z —5)°+(z—5)(y—6) —2(y—6)* =0

represents


https://dl.doubtnut.com/l/_vQJ6FjujdF6M
https://dl.doubtnut.com/l/_AkqjAZ0HxHWD

A. two lines

B. two lines passing through origin

C. two lines passing through the point (6, 5)

D. two passing through the point (5, 6)

Answer: D

° Watch Video Solution

47. The joint equation of the line

2r +y =0 and 3x — by = Ois

A 6z° + 3zy — 5y =0


https://dl.doubtnut.com/l/_AkqjAZ0HxHWD
https://dl.doubtnut.com/l/_7zZWzvKd0Mgm

B.6z% — 10zy — 5y> = 0
C.6z° 4+ Ty — 5y =0

D.6z> — Tzy — 5y = 0

Answer: D

o Watch Video Solution

48. The joint equation of the

xr—y=0and z+y=20is

Azl —zy+y =0

Bz’ —zy—y =0

line


https://dl.doubtnut.com/l/_7zZWzvKd0Mgm
https://dl.doubtnut.com/l/_6KONZ7Zkf717

Czl+y>=0

D.z? —y?> =0

Answer: D

o Watch Video Solution

49. The joints equation of the
3r —2y+5=0and 5z — 3y =0is
A. 1522 — 192y + 6y® — 25z — 15y = 0
B. 152> — 192y + 6y + 252 — 15y = 0

C. 152 — zy + 6y + 25z — 15y = 0

lines


https://dl.doubtnut.com/l/_6KONZ7Zkf717
https://dl.doubtnut.com/l/_T9NVKarMoxv9

D. 152> + zy + 6y° + 25z — 15y = 0

Answer: B

0 Watch Video Solution

50. The joint equation of the lines
3r +2y—1=0and 4+ 3y—2=20is
A3z + 1ley+6y> —Te +Ty+2=0
B.3z2 + llay + 6y> + 7z —Ty+2=0
C.3z2 +1lzy+6y° — Tz —Ty+2=0

D.3z + llzy + 6y* + Tz + Ty +2 =0


https://dl.doubtnut.com/l/_T9NVKarMoxv9
https://dl.doubtnut.com/l/_UhIINabbB0TU

Answer: C

o Watch Video Solution

51. The joint equation of the lines
x+2y—1=0and 2z —3y+2=20is

A2z’ +zy—6y° +Ty—2=0

B.222 —zy —6y> +Ty—2=0

C.2z° +zy+6y° +4y—2 =10

D.2z> —zy+6y> —4dy—2=0

Answer: A

f ) |


https://dl.doubtnut.com/l/_UhIINabbB0TU
https://dl.doubtnut.com/l/_CqjPjx671M4u

| o Watch Video Solution

52.Find the joint equation of the lines x+y-3 =0 and
2x+y-1=0

A2z +3zy+y>—4de —Ty+3=0

B.222 +3zy+ 9> —Tx —4y+3 =0

C2x° +3zy+y° +7—4y+3=0

D.2z°> + 3zy+y°> — Tz +4y+3=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CqjPjx671M4u
https://dl.doubtnut.com/l/_mvua4Y5zHdoc

53. The combine equation of the lines passing
through the origin and having slopes 3 and 2 is

A 622 +5zy+y> =0

B.6x2 — 5zy + y2 = 0

C.z’+5zy+ 6y =0

D.z? — 5zy + 6y° =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zibn72OhtNw6

54. The combine equation of the lines passing

through  the origin

1++/3 and 1 — 4/3is
Azl+zy— 2% =0
B.z? + 2zy — 2y* = 0
C2z° +zy—y®> =0

D.2z% + 2zy —y®* =0

Answer: D

and

having

slopes

o Watch Video Solution



https://dl.doubtnut.com/l/_r2c1M6KiaYQf

55.Find the combined equation of the lines passing

through the origin and having inclinations

5
r and —7T.

3 3
Az?+3y° =0
B.2> + 42 =0
C.3zc2—y2 =0

D.z2 —3y> =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WYaOKW5bGnn2

56. The combine equation of the lines passing
through the origin and having inclinations
60° and 120° with X-axis is

A3z —y> =0

B.3z2 +¢y2 =0

C.z? -3y =0

D.z% 4 3y* = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QejR7nAwXOXF

57. The joint equation of pair of lines passing
through the origin and inclined at 30° and 60°
with X-axis is

A2z — 22y + 3y =0

B.2z° — 2zy + /3y° = 0

C. \/3(582 + y2) = 4y

D.4(:132 + y2) = /32y

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ebHE0UdunR1P

58. The combine equation of the lines passing
through the origin and each of which makes an
angle of 60° with the Y-axis is

Azl —3y°=0

B.3z2 — y2 =0

Cz?— 3y =0

D./3z*> —y* =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xZdhzwP7Wdus

59. The joint equation of lines passing through the
origin and bisecting the angles between co-
ordinate axes is

Azl —zy+y° =0

B.z? —zy+y> =0

Czl—y*=0
D.z° +y* =0
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4Kl9xkrdB1vQ

60. The joint equation of lines passing through the
origin and trisecting the first quadrant is

Az?+ /Bzy —y°> =0

B.2z> — /3zy —y> =0

C.v/3z% —dzy + /3y* = 0

D.3z2 —y* =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YlPeBNANEBGu

61. The joint equation of lines passing through the
origin and trisecting the second and fourth

quadrant is
A /3z% + dzy + /3y° = 0
B.2z> — /3zy —y> =0
C./3z® —day +/3y* =0

D.3z° —y* =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_g2fyLKCufiOB

62. The combine equation of the lines passing
through the origin and which are at a distance of 9

units from the Y-axis is

Ay’ —81=0
B.y> +81 =0
Cz?—-81=0
D.z2 + 81 =10
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_9HtkvXDsDQHA

63. The joint equation of pair of lines through point
(a, b) parallel to the co-ordinate axes is
A(z+a)(y+b) =0
B.(zx +a)(y—0b) =0
C(x—a)(y—b) =0

D.(z —a)(y+b) =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Bdpd1sk7SDc4

64. Combined equation of pair of lines, through (1,2)

and parallel to co-ordinate axes is

Azy—2x—y+2=0

B.zy—2x —2y+2=0

Czy+2r+y+2=0

Dzy+x+2y+2=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vtuqYBbPQRqU

65. The combined equations of lines passing
through (2, 3) and parallel to the co-ordinate axes
Is

Axzy—3x—2y+2=20

B.zy+3xr+2y+6=20

Czy=20

D.zy —3x —2y—6 =20

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CAzltZEcqVUV

66. The combined equations of lines passing
through (3, 2) and parallel to the co-ordinate axes
Is
Azy+2x+3y+6=20
B.zy+3xr+2y+6=20
Czy—3z—2y+6=20

D.zy —2x —3y+6=0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_hDKvrEHpBfj2

67. The joint equation of bisectors of angles

between linesx = bandy = 3 is

A(z—5)(y—3) =0
B.z? — 9> — 10z + 6y + 16 =0
Czy=0

D.zy — bz —3y+15=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_43mpJyBxtglD

68. The joint equation of pair of lines passing
through the origin and parallel to the lines
y=mix +c and y = mex + cy is
A. m1m2:132 + (m1 + m2).’1:y + y2 =0
B.m1m2w2 — (m1 + m2)a:y + y2 =0
C.mimay® + (mq +my)zy + 22 =0

D. m1m2y2 — (m1 + m2)xy + 372 =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bwDQs8uxncHN

69. The combine equation of the lines passing
through the origin and perpendicular to the lines
x+2y=19 and 3z +y = 18is

A3z? — Tey+ 2y =0

B.2z% — Txy+3y°> =0

C.3z% + Ty + 2y% = 0

D.2z% + Txy + 3y> =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_t2uxcVdVHHP2

70. Joint equation of pair of lines passing through
origin of which one is perpendicular and other is
parallel to line 6z — 4y + 5 = 01s

A 3z + bzy — 6y° =0

B.6z° + 5zy — 63> = 0

Czl+2zy+6y =0

D.z% — 5zy + y° = 0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ryMiVdT8hCDO

71. The joint equation of pair lines passing through
the origin of which one is parallel and other is
perpendicular to 5 + 3y = 7 is

Azl —zy—y =0

B.3z% — 16zy + 3y2 = 0

C.15z% — 162y — 15y = 0

D. 15z + 16zy + 15y° = 0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wNrEnKn7GIsN

72.The joint equation of pair lines passing through
the origin of which one is parallel3z — y = 7 and
other is perpendicular to 2z + y = 8 is
2 2
Adx" +zy+2y" =0
B.3z” — zy + 2y> = 0
2 2 _
C.3z" 4+ Tzy+ 2y =0

D.3z® — Tzy + 2y° = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_XJFztKv7fEnb

73. The combined equation of pair of lines through
point (2, -1) and parallel to the lines given by
3z% — dzy + 2y° = Oiis
A 3z% — 4oy + 2y + 16z + 12y — 22 =0
B.3z? — dzy + 2y + 162 + 12y + 22 = 0
C.3z% —dxy +2y* + 16z — 12y +22 =0

D.3z* — dxy + 2y° + 16z + 12y +22 =0

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_iIX1KafTvZxI

74. The joint equation of pair of lines through
(2, — 1) and parallel to 2z* + 3zy — 9y* = O'is

A 2z% 4+ 3zy+ 9y? — 5z — 24y + 7 =0

B.22% + 3zy — 9y* — bz — 24y + 7 =0

C.22° +3zy+ 9y — 5z — 24y —7=0

D.2z° +3zy — 9% — 5z — 24y — 7 =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GacYLJeDvdUQ

75. The joint equation of pair of lines through

(2, — 3) and parallel to z* + zy — 3*> = Ois
Azl+azy—y —2z—8y—11=0
Bzl+ay—y’ -8 —y—11=0
Cel+ay—y’—z—8y+11=0

D’ +ay—vy> — 8z —y+11 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NEa7jA1i3BnO

76. The combined equation of lines passing through
the point (1,2) and perpendicular to the lines
3r +2y — 5 =0ad2x —by+1=20is
A. 1022 + 1lzy — 6y® + 22 — 35y — 36 = 0
B.10z2 + 1lzy — 63> — 22 + 3y — 36 =0
C.10z2? — 1lzy — 6y® + 22 — 35y — 36 = 0

D.10z? — 1lzy — 6y° + 2z + 35y — 36 = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4m4WaGqRJ4lZ

77. The combined equation of lines passing through
the point (2,3) and perpendicular to the lines
3r +2y—1=0and z —3y+2=20is
A 622 —Tey+3y? — 3z — 32y —45 =0
B.6z% — Txy — 3y® — 3z + 32y — 45 = 0
C.6x2 —Tey —3y> +3z+32y—45=0

D.6z” — Ty +3y> — 3z +32y —45=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_k4PW6jXYIbQ3

78. The combined equation of lines passing through
the point ( — 1, 2) and perpendicular to the lines
r+2y+3=0and 3z —4y—5=20is
A 8z% 4+ 2zy — 3y — 12z + 14y +8 =0
B.8z% + 2zy — 3y® + 12z + 14y — 8 = 0
C.82% 4+ 2xy — 3y + 12z — 14y — 8 =0

D.8z2 + 2zy — 3y? — 122 — 14y + 8 =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_b4DB6y5Op945

79. The combined equation of lines passing through
the point (3,2) of which one is parallel to
x — 2y = 2 and other is perpendicular to y = 3is
Az?—2zy—2cx+6y—3=0
B.z? —2zy — 4z +6y+3=0
Cz’—2zy—6z+2y—3=0

D.2? — 2zy — 6z +4y+3=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nLDki7e25EZg

80. The combined equation of lines passing
through the point ( — 1, 2) of which one is parallel
to £ + 3y — 1 = 0 and other is perpendicular to
2r —3y—1=0"is
A.3z% + 1lzy + 6y> + 162 + 13y +5=10
B.3xz? + llzy + 6y° + 13z + 16y + 5 = 0
C.3z2 + 1lzy + 6y®> — 162 — 13y + 5 = 0

D.3z% + 1lzy + 6y> — 13z — 16y — 5 =0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Lut5847VhTQV

81. The joint equation of lines passing through
point (2, 3) of which one is parallel to 2z + 3y = 5

and other is perpendiculartox — 4y = T'is

A (22 + 3y + 13)(4z + y + 11) = 0
B. (22 + 3y — 13)(4da + y — 11) = 0
C.(2x +3y—13)(dz +y—11) =0

D.(2z + 3y — 13)(4x + y+ 11) =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4wIaYun02HgB

82. The combined equation of the pair of lines
through the origin and perpendicular to the pair of
lines given by az? + 2hay + by® = 0, is

A.a® — 2hxy + by’ =0

B.bx? + 2hxy + ay’ = 0

C.bz? — 2hzy + ay® = 0

D.bz? + hzy +ay’* =0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eYn0cuxAcw6f

8. The joint equation of linespassing through the
origin and perpendicular to lines represented by
5z — 8xy + 3y° = Oiis

A 3z% 4+ 8zy + 5y =0

B.3z” — 8zy + 5y = 0

C.3z% + 4zy + 5y% = 0

D.3z® —4zy + 5y° =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Vdf78JZeBxx6

84. The joint equation of lines passing through the
origin and perpendicular to lines represented by
5z + 2zy — 3y? = 0O'is

A 3z? —dzy — 5y =0

B.3z% + 4dzy — 5y = 0

C.3z° —2zy — 5y =0

D.3z% 4+ 2zy — 53> = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BmlILH6xnkAe

85. The joint equation of lines passing through the
origin and perpendicular to lines represented by
z? 4+ dxy — 5y = O'is

A5z +dzy+y2 =0

B.5z% + dzy — y* = 0

C.5z° —dzy+y =0

D.5z% —dzy —y* =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KiWUwbbOOq3c

86. The joint equation of lines passing through the
origin and perpendicular to lines represented by
22 — 3zy — 9y? = 0O'is

A 922 — 3zy — 242 =0

B.9z” — 3zy + 2y = 0

C.92% + 3zy — 2y% = 0

D.9z? + 3zy + 2y° = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uf67hDtq9pvt

87. The joint equation of lines passing through the
origin and perpendicular to lines represented by
332—|—a:y—y2 =0is

Azl —zy—y =0

B.z? —zy+vy> =0

Czl+zy—y®> =0

D.z? 4+ 2zy —y®> =0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_utE3V7mIcDdi

88. The combined equation of pair of lines passing
through origin and perpendicular to the lines given
byZaz2 —3zy+y® =0is

Az’ +3zy+2y° =0

B.2% — 3zy + 2y° = 0

C2z° +3zy+y =0

D.2z° —3zy+y* =0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_icUyWU95SLaA

89. The combined equation of pair of lines passing
through origin and perpendicular to the lines given
by 5z + 3zy — 2y® = 0O'is

A 2z% 4+ 3zy + 5y =0

B.2z> 4+ zy + 5y* = 0

C.2z% + 3zy — 5y% = 0

D.2z% — 3zy — 5y° = 0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MoxKMqaIoxWM

90. The joint equation of lines passing through the
origin and perpendicular to lines represented by
22> 4 bxy + 2y*> + 10z + 5y = O'is

A 222 — 5zy + 2y = 0

B.2z% + bzy — 2y? = 0

C.2z° —bzy— 2y =0

D.2z% + bzy + 2y* = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ELpOrwZhztcq

91. The joint equation of pair of lines through point
(1,2) and perpendicular to the lines given by
2% — bxy + 3y° = Ois
A 3z% + bzy + 2y? — 162 + 13y — 21 = 0
B.3z> + bxy + 2y + 162 — 13y — 21 = 0
C.3z° 4+ bry + 2y — 162 — 13y — 21 = 0

D.3z% + Szy + 2y* — 162 — 13y + 21 = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OT8S1xIk19fg

92. The equation az’ + 2hzy + ay® = 0
represents a pair of coincident lines through origin,
if

A.h = 2a

B.2h = a

Ch= +a

D.2h% = a

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_D7QQ2l24s7oU

93. The equation 4z® + hxy + y* = 0 represents a
pair of coincident lines through origin, if h=

A +2

B.£16

C.+4

D.£3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l8RoywBVAhzE

94. If the equation k(az2 + yz) = 8zy represents a
pair of coincident lines, If k=

A +1

B. +16

C.£2

D.t4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0gUmlDkpiuZR

95. If the equation
(k+ 1)z® — 6zy + (k — 7)y> = 0 represents a
pair of coincident lines, If k=

A8, —2

B.—8, 2

C.—8, —2

D.8, 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4ayx4IeybEWH

96. If the equation a’z” + bxy® = a(b + c)zy

represents a pair of coincident lines, then

Ab=a

B.b=rc

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DN6EwomRcdNo

97. Which of the following pair of straight lines

intersect at right angle?

Ay= 2z
B.2y(z + y) = xy
C(z+y)" =2z(3z +y)

D. 2z = y(z + 2y)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7BglKKbOd2vK

98. The equation z? + azry + ﬁy2 = O represents a

pair of perpendicular lines , if

Ao =203
B.B= —1
C.2a=p
D.af = —1
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7GyCNBqNoSPK

99. If the equation K(m2 -+ y2) = (3z — y)2

represents a pair of coincident lines, then k=

A —5

B.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OphdNYjI3bmw

100. If the equation (kz + y)2 = k($2 + 3/2)

represents a pair of perpendicular lines, then k=

C.1

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mAM8zqqbmtwh

101. If the lines represented by
sin® a(z” + y*) = ((cosa)z — (sina)y)’ are

perpendicular to each other, then a =

0 @ >
S~ 3wy @

o

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Refm23OltAdp

102. If az®>+6zy+3y> — 10z +10y—6 =0

represents a pair of perpendicular lines, then |a| =

A £3

B.0

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eQzxBQjF2saf

103. The sum of the slopes of the lines given by

z? — Tey + 12y° = 0is

-7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1iyjxKFhYC8Q

104. The product of the slopes of the line given by

T —a:y—6y2:Ois

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qWok8F1aN21M

105. If the sum of the slopes of the lines given

3z% + kxy — y? = Ois zero, then k=

B.0

C.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_42EcSwSa5pPH

106. If the lines

represented

by

6% + 4lzy — Ty* = 0 makes angle o and B with

X-axis, then tana x tan

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4PsGqb4uQmav

107. If the lines represented by ax? — bry — y2 =0

makes angle «a and 8 with X-axis, then

tan(a + B) =

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cgFOSMIR8ZUJ

108. If the lines represented by z? —dzy+1y* =0
makes angle «a and 8 with X-axis, then

tan’ a + tan® 8 =

A 2

C.14

D.—14

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YMSMbu1cmed6

109. If the sum of the square of slopes of the lines
represented by kz® — 3zy + y? = 0is 5, then k=
Al
B. 2
C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XnnuzRrl4EWd

10. If the slope of one of the lines given by
kz® 4 (3k 4 1)zy + 3y*> = 0 is reciprocal of the

slope of the other line, then k=

A 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WPndaamkbtZc

1M1. If the slope of one of the lines given by
az® + 2hzy + by? = 0 is k times the slope of
other, then

A kh? = 4ab(1 + k)

B. kh? = 2ab(1 + k)*

C.4xh? = ab(1 + k)*

D. 2kh? = ab(1 + k)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8NbwLiO2HOq6

112. If the sum of the slopes of the lines given by
2% + kzy — 3y = 0 is equal to their product,

then k=

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ebXZS5Q51fvv

113. If sum of the slopes of the lines represented by

z? + kzy — 3y? = 0is twice their product, then k=

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6Sn76uNFZsFF

14. If the sum of the slopes given by
az’ + 8zy + 5y? = 0 is twice their product, then

a:

B. 2

C.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xj0dGAVdEbPR

ms, i L LB t pair of
o | a + b + T represent pair o

straight lies and slope one line is twice the other

line then ab: h2.

A l:2

B.2:1

C.8:9

D.9:8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0yy8zbm2IpGU

16. If the slopes of the Iline given by

6z + 2hzy + y° = 0 are in the ratio 1: 2, then h=

3,3
A 3V3

2

N w

| o Do
gw
w

=
NN

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RS3xEhwLp8T1

17. If the slopes of one of the line given by

az® + 2hzy + by? = 0 is three times the other,

then
A. 4h%> = 3ab
B.2h% = 3ab
C.3h> = 4ab
D.3h% = 2ab
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NiFAUIKxSBcy

118. If the slopes of one of the line given by
3z% + 4zy + ky? = 0O'is three times the other, then
k=

A0

B.1

C.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_46wqhX4sGHxR

19. If the ratio of gradients of the line given by

az’ + 2hzy + by? = 0is 1:3,then h%: ab =

0

o
Ll x| w

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_B37aVe6wwG69

120. If the slope of one of the line given by
az’ + 2hzy + by? = 0is four times the other, then
A.4h 4+ 5ab = 0
B.4h — 5ab = 0
C.16h* + 25ab = 0

D.16h% — 25ab = 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MNswBWITNM1F

121. If the slope of one of the lines given by
4z? + kxy + y® = 0 is four times the other, then

k=

A. 25

B.5

D.£5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qHlENQnNgmFX

122. If the sum of slopes of the lines given by
3z% + kxzy — 9y* = 0'is 5 times their product, then

k=

A. 10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7mTgS2qgzus9

123. The difference of the slopes of the lines given
by 3z? — 4zy + y* = O'is

Al

B. 2

C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yBUkjBW52UtG

124. The slopes of the lines given by
1222 + by — y* = 0 differ by 6, Then value of b is
A 2
B.£2
C.*+1

D.1

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_yfv8BeAqvhvg

125. If slopes of lines represented by
kz® + 5zy + y° = 0 differ by 1, then k=

A 2

B.3

C.6

D.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4NDATYjQuVsb

126. If the slopes of the lines represented

3z% + kxy — y® = 0 differ by 4, then k=

A 2

C.x2

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vLqrYd5moikw

127. If the slope of one of the lines given by
kz® + 4zy — y* = 0 exceeds the slope of the other
by 8, then k=

A. 4

B. 16

C.48

D. 12

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NEIPvTSRvelS

128. If two lines represented by
z? (ta,n2 6 + cos® 0) — 2zytanf + y*sin®6 = 0

make angles a, 8 with x-axis then

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7Mymb9pjhaoM

129. The difference of the slopes of the lines
represented by
z” (sec’ § — sin® ) — (2tanf)zy + y*sin®f = 0

Al

B. 2

C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TFAg5GiMRdZT

130. If two lines represented by
z? (ta,n2 6 + cos® 0) — 2zytanf + y*sin®6 = 0
make angles a, 8 with x-axis then

A0

B. 2

C.3

D.2tanf

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Cs2owS7HitHY

131.If 4ab = 3h?, then the ratio of the slopes of the

lines represented by az? + 2hzy + by> = O'is

A.\/gzl
B.1/2:1
C.1:3

D.2:1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3v9fToGL6PqP

132. The ratio of the slopes of the lines represented
by ax? + 2hxy + by = 0is 2: 3, then h?:ab =
A6:5
B.5:6
C.24:25

D.25:24

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YnC6dS6EEtuQ

133. If the slope of one of the lines represented by
az® 4+ 2hzy + by’ = 0is square of the slope of the
other line, then

A.a’b + ab® + 8h® + 6abh = 0

B.a’b + ab® — 8h° + 6abh = 0

C.a’b + ab® — 8h*® — 6abh = 0

D.a’b + ab® + 8h> — 6abh = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pXSoQUYDlyXp

134. If the slope of one of the lines given

3z — dzy + ky? = 0is 1, then k=

A3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NugCJ6Bqv2ag

135. If the slope of one of the line given by
2pz’ — 16zy + qy? = 0 is 2, then the equation of

the other line, is

° Watch Video Solution

136. If 2z +y = 0 is one of the lines given by

3z% + kxy + 2y% = 0, then k=
1

A5
5. —-
2
5
2

C


https://dl.doubtnut.com/l/_cenxBgXDt39y
https://dl.doubtnut.com/l/_rNd2NTRv5TlG

—11

Answer: B

o Watch Video Solution

137. Find k, if one of the lines given by
622 + kzy + y* = 0is 2z + y = 0.

A. 10

B. 2

C.5


https://dl.doubtnut.com/l/_rNd2NTRv5TlG
https://dl.doubtnut.com/l/_QOVii2s5764O

Answer: C

o Watch Video Solution

138. If one of the |lines given by
622 — zy + 4cy® = 0is 3z + 4y = 0 jthen value of
| is

A 12

B. —12

C.3


https://dl.doubtnut.com/l/_QOVii2s5764O
https://dl.doubtnut.com/l/_0otlbuGLCMmX

Answer: D

o Watch Video Solution

139. If the line £ + 2 = 0 coincides with one of the

lines represented by z? 4 2zy + 4y + k, then k=

A —4

B.4

Answer: A

f


https://dl.doubtnut.com/l/_0otlbuGLCMmX
https://dl.doubtnut.com/l/_0BpeOAMdcnUV

| o Watch Video Solution

140. If the line 3x — 2y = 0 coincide with one of
the lines given by az? + 2hzy + by* = 0, then
Ada +12h +9b =0
B.4a + 12h — 9b =0
C.4a — 12h + 90 =0

D.4a — 12h — 9b =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0BpeOAMdcnUV
https://dl.doubtnut.com/l/_pqL8irtXTdK6

141. If the line 4z 4+ 5y = 0 coincide with one of the
lines given by az? + 2hay + by® = 0, then

A.25a + 40h +16b = 0

B.25a + 40h — 16b = 0

C.25a — 40h + 16b = 0

D.25a — 40h — 90 = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hzyRsf1O2EMb

142. If the line 4x — 5y = 0 coincide with one of the
lines given by az? + 2hay + by® = 0, then

A.25a — 40h — 96 = 0

B.25a + 40h — 160 = 0

C.25a — 40h + 16b = 0

D. 25a + 40h + 16b = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_z7EMX4msRDVJ

143. If one of the |lines given by
kz® — 5zy — 3y* = 0 is perpendicular to the line

x — 2y + 3 = 0,then k=

A 2

B.3

Cll
C 2

D2
"3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Z2ncfhP2Iv6Y

144. If one of the lines given by
3z% — kzy + 5y® = 0 is perpendicular to the line

5x+3y=0', then k=

A 24

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mh6wbfJZUG2b

145. If one of the lines given by
az® 4+ 2hzy + by’ =0 is  perpendicular  to
pz + qy = 0, show that ap® + 2hpg + bg® = 0
2 2 _
A.ap” — 2hpg+ bg® = 0
B.ap® + 2hpg + bg® = 0
2 2 __
C.aq” — 2hpg+ bp® =0

D.ag’ + 2hpg + bp® = 0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_m2FIRgSobHUT

146. If the line 3z + y = 0 is perpendicular to one
of the lines represented by az?® + 2hzy + by* = 0,
then

A.9%a —6h —-b=0

B.9a + 6h — b =20

C.9a —6h +b=0

D.9a + 6h +b =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TdrmNBhIqOml

147. If two lines az® + 2hzy + by® = 0 make equal

angles with a co-ordinate axis, then

Aab= +1
B.a =150
Ca= —b
D.a = +b
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wrlERjFobgu8

148. If the line given by az? + 2hzy + by? = 0 are

equally inclined to the co-ordinate axes, then

Ah=20
B.a+b=0
C.h? —ab=

D.h =a

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ljalgBSz6zhw

149. If one of the lines of az® + 2hzy + by? =0
bisects the angle between the axes, in the first
quadrant, then

A (a + b)* = 2h

B.(a — b)® = 2h

C.(a+ b)° = 4h?

D.(a — b)* = 4h°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GrMiATsIvJZh

150. If one of the lines given by kz? + zy — y*> = 0
bisects the angle between the co-ordinate axes,
then k=

Al —1

B.O, 1

c.0, — 2

D.0, 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5oWREQgm8Sb0

151. If one of the lines given by
kz® 4+ 2hxy + by? = 0 bisects the angle between
the axes in the first qaudrant, then

A (a + b)* = 2

B. (a + b)* = 4h?

Ch’—ab=0
D.h> +ab=0
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jKzscwQYSlky

152. If one of the |lines given by
kz® + 2hxy + by? = 0 bisects the angle between

the axes in the first gaudrant, then

° Watch Video Solution

153. If the pair of lines z? 4+ 22y + ay® = 0 and
az’ + 2zy +y®> =0 have exactly one line in

common, then a =
A (ab’ + a,’b)2 = 4(ah’ +a’h)(b’h + ah’)

B.(ab’ +a’b)® =2(ah’ +a’h)(b’h + ah’)

C.(ab’ —a’b)® = 4(ah’ —a’h)(b’h — bh’)


https://dl.doubtnut.com/l/_qbNbqEGPXZEa
https://dl.doubtnut.com/l/_eXA0k3vJCD9G

D.(ab’ — a’b)? = 2(ah’ — a’h)(b'h — bh")

Answer: C

° Watch Video Solution

154. If the pair of lines z? + 2zy + ay® = 0 and
ax® + 2xy +vy> = 0 have exactly one line in
common, then a =

Aa?+a+1=0

B.a’—a—1=0

Cal+a—-1=0


https://dl.doubtnut.com/l/_eXA0k3vJCD9G
https://dl.doubtnut.com/l/_MiDZUcOxamiI

D.a’2—a+1=0

Answer: C

° Watch Video Solution

155. If the pair of lines
322 — bzy + ky? = 0 and 622 — zy — 5y? = 0

have one line in common, then k=


https://dl.doubtnut.com/l/_MiDZUcOxamiI
https://dl.doubtnut.com/l/_81PgpCynCRdl

D.—2, —

[\
N

Answer: C

0 Watch Video Solution

156. If the pairs of lines z? + 22y + ay® = 0 and
az’ + 2zy +y?> =0 have exactly one line in
common, then the joint equation of the other two
lines is given by 3z% + STy — 3y2 =0
322 +10zy + 3y =0 v + 2zy — 322 = 0

z? 4+ 2zy — 3y® = 0

A. 322 + 10zy + 3y* = 0


https://dl.doubtnut.com/l/_81PgpCynCRdl
https://dl.doubtnut.com/l/_05XK7uUJrDyq

B.3z> — 10zy + 3y? = 0
C.3z% + 10xy — 3y2 =0

D.3z? — 10zy — 3y% = 0

Answer: A

o Watch Video Solution

157. The angle between the lines zy = 0O is

A.45°

B.30°

C.90°


https://dl.doubtnut.com/l/_05XK7uUJrDyq
https://dl.doubtnut.com/l/_iQ30tp1BZFbo

D. 180°

Answer: C

o Watch Video Solution

158. Find the angle between the lines represented
by 322 + dzy — 3y? = 0

A.30°

B.60°

C.45°

D.90°


https://dl.doubtnut.com/l/_iQ30tp1BZFbo
https://dl.doubtnut.com/l/_kXlSYf4Yhs3k

Answer: D

o Watch Video Solution

159. The acute angle 6 between the lines
represented by z? —dey+y* =0is

A.30°

B.60°

C.45°

D.90°

Answer: C

f ) |


https://dl.doubtnut.com/l/_kXlSYf4Yhs3k
https://dl.doubtnut.com/l/_7ScTSfnHbwzJ

| o Watch Video Solution

160. The acute angle 6 between the lines
represented by 3z — 4,/3zy + 3y> = Ois

A.30°

B.60°

C.45°

D.90°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7ScTSfnHbwzJ
https://dl.doubtnut.com/l/_Zpx0GgRZa9t9

161. The acute angle 6 between the lines
represented by 2% + Ty + 3y? = 0'is

A.30°

B.60°

C.45°

D.90°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DrFFwrXt4eOi

162. Find the measure of the acute angle between

the lines represented by
(a2 — 3b2)a:2 + 8abxy + (62 — 3a2)y2 = 0.

A.30°

B.60°

C.45°

D.90°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZIhwNBBlAphg

163. The acute angle 6 between the lines given by
3y* = z(Ty — 2z) is

A.30°

B.60°

C.45°

D.90°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BYsdjH5GGyrF

164. The acute angle 6 between the lines

represented by 3z2 + 2zy —y> = 0is

1

Atan~ [ =
tan (2)
3

B.tan ! —
tan (2)
2

C.tan ' =
an (3)

D.tan ' 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7XTjbp3st4uN

165. The acute angle 6 between the lines

represented by 2% — 6zy + y° = 0is

A .tan <ﬁ>

B.tan ( 2\/7)
C.tan (BTﬁ)
D.tan (2—ﬁ>
3
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_t3KP18lDjN4o

166. The acute angle 6 between the lines

represented by 4z + 5zy+y2 = 0is

1
Atan 1| =
an (5)

1

B.tan ' =
an (3)

3

C.tan ' —
an (5)

5

D.tan | —
an (3)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fhnGGJlFWFW5

167. The angle between the lines
ay® — (1 + Az))my —az® =0 is same as the
angle between the line:

Azy=20

B.5z% + 2zy — 3y%> = 0

C.5z% + 16xy + 5y2 =0

D.22 —2zy — 3y> =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rHJmbMyQJlAq

168. The acute angle between the lines given by
(sin2 0 — 1):132 — (cos2 0) xy + (cos2 0) vy =0is

A. 30°

B.60°

C.45°

D.90°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Q9NHYoKSNe06

169. The acute angle between the lines given by

2 + 2(cos ech)xy + y* = O'is

A o

B.90°

C.90° — «

D.90° + o
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hingO62mHwew

170. The acute angle between the lines given by
2 + 2(cot f)zy +y*> = Ois

A.0°

B.60°

C.90°

D.tan ! (cos ecoy/ cos 2a)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jBrjCXWm2dk3

171. The angle between the pair of lines represented

by (sin’ @) (z* + y*) = (z cosa — ysina)? is

D. — 2«

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WShRa0lmtJBw

172. If the angle @ is acute, then the angle between
the pair of lines given by
(cos @ — sinB)z> + 2(cos O)zy + (cos § + sinf)y* = 0

IS

A0

0

o
Wl v

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_P6jLwdV9QNCO

173. If the angle between the lines given
(ta,n2 A)az2 — kzy — y® = 0is 2A, then k=

A0

B.1

C.2

D.tan A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nWDxZCAp4qfj

174. If 0 is the acute angle between the lines
represented by
1
kz’ — dzy + y? = 0 and tanf = E,then k=
A —21, — 3
B.—21,3
c.21, —3

D.21, 3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4jqRu3wSKI2e

175. If the angle between the lines given
6z + zy + ky? = 0is 45°, then k=

A 1,35

B.—1,35

C.1, — 35

D.—1, — 35

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JmP8fIkMGPol

176. If the angle between the lines given

z? — 2kzy + y? = 0is 60°, then k=

A £./3

B.++/2

C.x2

D.£1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_B7xvUAQ8KZWZ

177. If 6; and 65 are the acute angle between the
lines given by

3z? — Tzy + 4y® = 0 and 62% — Szy + y* = 0,

then
A0y =6,
B. 91 = 292
C.0, = 20,
D. 20, = 360,
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CbgunTRnXsbm

178. If the angle between the lines given by
az® 4+ 2hzy + by’ =0 is equal to the angle
between lines given by 2% — 5zy + 3y? = 0, then

A.100(h* — ab) = (a + b)’

B.100(h® — ab) = (a — b)*

C.25(h* — ab) = (a + b)°

D.25(h* — ab) = (a — b)°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0pZ1fApZdEfe

179. If the acute angle between the lines
az® + 2hzy + by? = 0 is congruent to the acute
angle between the lines 3z — 7zy + 4y® = 0, then

A.4(h* — ab) = (a + b)°

B.7(h* — ab) = (a + b)”

C.49(h* — ab) = (a + b)°

D.196(h? — ab) = (a + b)’

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WXIn2tdeoGMK

180. If xz°+42hzy+y> =0 represents the
equation of the straight lines through the origin

which make an angle a with the straight line

(1+h) _ .
y+x =0 sec2a = h cosa = 2sin o
(2h)
1+ h 1+ h
= ( ) (d) cota = ( )
h (h — 1)
A. sin 2«
B. cos 2«
C. cos ec2u
D. sec 2«
Answer: D

[ 1


https://dl.doubtnut.com/l/_0lDCa6Kceo7T

| @Y Watch Video Solution

181. The joint equation of pair of lines passing
through the origin and making an angle of 45°
with theline3x +y = 0is

Az — 2cos ec2azxy + y2 =0

B. 2> + 2cosec2azy + y°> = 0

C.z2 — 2sec2azy+y? =0

D.z% + 2sec2azy + y*> = 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0lDCa6Kceo7T
https://dl.doubtnut.com/l/_odeHBRHAef1E

182. The equation of the pair of straight lines, each
of which makes an angle o with theliney = z is
Az?—2zy+y®> =0
B.z? — 2cos ecazy + y° = 0
C.z?> —secazy +y?> =0

D.z? — 2secZaa:y+y2 =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_odeHBRHAef1E
https://dl.doubtnut.com/l/_2TlzRi3Yjqsm

183. The joint equation of pair of lines passing
through the origin and making an angle of 45°
with the line3x +y = 0is

Az? 4+ 3zy+y? =0

B.2z% + 3zy + y> = 0

C.2z% + 3zy — 2y% = 0

D.3z% + 2zy — 2y* = 0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lSOlcFlSmH0P

184. The joint equation of pair of lines through the
origin and making an angle of % with the line
3z +y—6=20is

A 3z2 — 122y — 13y = 0

B.3z% + 12zy — 3y®* = 0

C.3z% — 12xy — 3y2 =0

D.3z% + 12zy — 13y? = 0

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_ZWnxjd3K9GsH

185. Find the joint equaiton of the pair of the lines
through the origin each of which is making an
angle of 30° with the line 3x + 2y — 11 = 0.

A. 2322 + 48zy + 3y = 0

B. 3z% + 48zy + 23y* = 0

C.23z% + 24zy + 3y =0

D. 3z% + 24zy + 23y% = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mY40TKN5H2Yw

186. Joint equation of two lines through the origin
each making angle of 60° with linex — y = 0, is
Az?—dzy+y? =0
B.z’ +4axy+y* =0
Cz?—3zy+y®>=0

D.z? + 3zy + y°> =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CV8t9d7Gxhts

187. Joint equation of two lines, through the origin,
each making an angle of 30° with the Y-axis is
A3z —y> =0
B.z2 —3y2 =0
C.3z% + y2 =0

D.z% 4+ 3y* = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_V4EZ0FwnzUz2

188. Find the joint equation of the pair of lines
through the origin and making an equilateral
triangle with the line x = 3.

Az?+3y° =0

B. 2% — 3y2 =0

C3z2+4>=0

D.3z2 —y* =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vjSywMP112YE

189. Find the joint equation of the pair of lines
through the origin and making an equilateral
triangle with the line x = 3.

Az?+3y° =0

B.z2 — 3y®> = 0

C3z22+4>=0

D.3z2 —y* =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FfzNJDhE3DSo

190. The joint equation of pair of lines through the
origin and making an equilateral triangle with the
line x+y=10, is

Az? —dzy+y? =0

B.z’ +4axy+y> =0

Cz?—2zy+y? =0

D.z? + 2zy + y> = 0

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_1T8eQa2Lr2GE

191. The joint equation of pair of lines through the
origin and making an equilateral triangle with the
line 3z 4 4y = 5, is

A. 3922 + 48zy + 11y® = 0

B.39z% — 48zy + 11y°> = 0

C.39z% + 96zy + 11y = 0

D. 39z — 96zy + 11y* = 0

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_pCm3RilVVksd

192. If the slope of one of the lines given by
az® + 2hzy + by? = 0is 5 times the other, then

A. —2h

B. 2h

C. —4h?

D. 4h>

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uIg6nEL4GwQC

193. The line =z +y = /6, forms an equilateral
triangle with the lines z? — dey+y* =0, The
perimeter of the triangle is :

Az? —dzy+y? =0

B.z’ +4axy+y> =0

Cz?—2zy+y®>=0

D.z% + 2zy + 3% = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_w34iVkcg0QJI

194. The line z +y = /6, forms an equilateral
triangle with the lines z? —dey+y* =0, The

perimeter of the triangle is :

A.2,/3 sq.units

B. {/3sq.units

2
C. — sq.units
V3
1 :
D. — sq. units
V3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yAnPXsKeeV3r

195. The line z +y = /6, forms an equilateral
triangle with the lines z? —dey+y* =0, The
perimeter of the triangle is :

A. 3,/3units

B. 3 units

C. 2 units

D. 6 units

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Cp9yPHkzuvT8

196. The line dr —4y+5=0 and
3(3y + 4z)* — (3z—4y)> =0 forms a triangle
which is (i) isosceles (ii) Equilateral (iii) Right Angled
Triangle (iv) Right Angled isosceles

A. an equilateral

B. a right angled isosceles

C.aright angled with one angle 30°

D. an isosceles with base angl 30°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_w7yMdAvU0aqy

197. If the lines
kz’ +6zy+ 2y  =0and z+3y=9 form an
isosceles triangle, then k=

A —8

B.8

C.6

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_gx0E5GpcKpoe

198. Triangle formed by z* — 3y*> = 0 and = = 4 is

A. an equilateral
B. an isosceles
C.aright angled

D. a scalene

Answer: A

° Watch Video Solution

199. The triangle formed by the lines

1022 + 21zy — 10y® = 0 and 7z + 3y = 415


https://dl.doubtnut.com/l/_5ze3shHrpC5E
https://dl.doubtnut.com/l/_4kvm0I0gegTi

A. an equilateral

B. an isosceles with base angl 30°

C.aright angled with one angle 30°

D. a right angled isoscels

Answer: D

° Watch Video Solution

200. the area formed by the lines > — y* = 0 and

r+8=20is

A. 8 sg.units


https://dl.doubtnut.com/l/_4kvm0I0gegTi
https://dl.doubtnut.com/l/_730qfey1r17s

B. 16 sq.units

C. 32 sq.units

D. 64 sq.units

Answer: D

o Watch Video Solution

201. Show that the lines z? — 4zy + 3> = 0 and
x + 1y = 10 contain the sides of an equilateral

triangle.

100 :
A. —— sq.units
V3


https://dl.doubtnut.com/l/_730qfey1r17s
https://dl.doubtnut.com/l/_E5sqTuuGJGXD

B. — sq.units
V3

50 ,
C. — sq.units

V3

25 :
D. — sq.units

V3

Answer: C

o Watch Video Solution

202. Show that the lines
w2—4wy—|—y2:Oandw+y:1 form an

equilateral triangle and find its area.

1
A. —— sq.units
V2


https://dl.doubtnut.com/l/_E5sqTuuGJGXD
https://dl.doubtnut.com/l/_fiIYEdNkRg0h

1
B. — sq.units
V3
2 :
C. — sq.units
V3

D. — sqg.units
9 q

Answer: D

o Watch Video Solution

203. The coordinates of the orthocentre of the
triangle formedby the lines 2z% — 3zy + y*> = 0

andx +y = 1are

13
A \/_

sqg.units


https://dl.doubtnut.com/l/_fiIYEdNkRg0h
https://dl.doubtnut.com/l/_iBhvpgAiHEGM

V13
4

V13

B.

sg.units

C.

sqg.units

V13
5

D.

sqg.units

Answer: A

° Watch Video Solution

204. The area of the triangle formed by the lines

322 —42zy+y* =0and z + 2y +7=01s

49,/5
3
98+/5
3

A.

sg.units

sqg.units



https://dl.doubtnut.com/l/_iBhvpgAiHEGM
https://dl.doubtnut.com/l/_hcDBDPysNvjt

49/5
15

98+/5

sqg.units

sg.units

Answer: C

° View Text Solution

205. If a + b = 2h, then the area of the triangle
formed by the lines az® + 2hay + by® = 0 and the

linex — y+ 2 = 0,in sq. units is



https://dl.doubtnut.com/l/_hcDBDPysNvjt
https://dl.doubtnut.com/l/_ejSJIVIBIsA0

Answer: C

° Watch Video Solution

206. The length of each perpendicular side of an
isoscele right angled triangle formed by

dx® + 6oy —4y> =0and z — 3y + 7 =0is

>

Sl Sl

@


https://dl.doubtnut.com/l/_ejSJIVIBIsA0
https://dl.doubtnut.com/l/_JOMnspgPTAy4

N

o

Sle Gle

Answer: A

o View Text Solution

207. Show that the straight lines

z? + dzy+y®> =0 and the line x-y=4 form an

equilateral triangle .
A. — sq.units
V3

B. — sq.units
V3


https://dl.doubtnut.com/l/_JOMnspgPTAy4
https://dl.doubtnut.com/l/_cy5yWBXCUvS5

16
C. — sq.unts

V3

D. — sq.units
V3

Answer: D

° Watch Video Solution

208. Show that straight lines
(A2 — 3b2):1:2 + 8AB:1:y(b2 — 3A2)y2 =0 form

with the line Ax + By + C' = 0 an equilateral
C2
V3421 BY)

triangle of area

A /3


https://dl.doubtnut.com/l/_cy5yWBXCUvS5
https://dl.doubtnut.com/l/_nGtWnNgPCqpM

B.2,/3
C.3

D. 12

Answer: A

o Watch Video Solution

209. The area of triangle (in sq units) formed by the

lines 22 — 4y®? = 0and z = q, is

A. 2a” sq.units

B @’ units
. — sd.
2 q


https://dl.doubtnut.com/l/_nGtWnNgPCqpM
https://dl.doubtnut.com/l/_4mJrx5Qs6hkH

v/3a’

C. unit
5 sq.units
2a? ,
D. — sq.units
V3
Answer: B

o Watch Video Solution

210. If the area of the triangle formed by the pair of
lines 8z —6zy+1y> =0 and the line
2z + 3y = ais7thena =

A. 49

B. 14


https://dl.doubtnut.com/l/_4mJrx5Qs6hkH
https://dl.doubtnut.com/l/_V9qSK8MHa5MU

C.112

D. 28

Answer: D

° Watch Video Solution

211. The joint equation of pair of lines which bisects
angle between the lines given by
2 +3wy—|—y2 =0is

A3z? +2zy+3y° =0

B.3z2 — 2y — 3y2 =0


https://dl.doubtnut.com/l/_V9qSK8MHa5MU
https://dl.doubtnut.com/l/_RsTBaLS10n4S

C.3:132—2a:y+y2 =0

D.3z% — 2zy + 3y =0

Answer: C

° Watch Video Solution

212. The joint equation of bisectors of the angles
between the lines given by 5z* + 6zy — y* = 0, is
A z? 4+ 2zy +y> =0
B.z? +2zy —y> =0

Cz? —2zy+y? =0


https://dl.doubtnut.com/l/_RsTBaLS10n4S
https://dl.doubtnut.com/l/_6TPDkeXBMYCW

D.z2 — 2zy — 3% =0

Answer: D

o Watch Video Solution

213. If the lines z? + 2hay — y® = 0 bisect the

angle between the lines 222 + 10zy — y* = 0 then


https://dl.doubtnut.com/l/_6TPDkeXBMYCW
https://dl.doubtnut.com/l/_mVQ8DzRJQoNR

Answer: B

° Watch Video Solution

214. If 7z> — kxy — Ty*> = 0 represents the joint
equation of the bisectors of the angles between the

lines given by 2z — Tzy + 4y* = 0, then k=

A 4

C.2


https://dl.doubtnut.com/l/_mVQ8DzRJQoNR
https://dl.doubtnut.com/l/_TRgiDEvvQ70J

Answer: A

0 Watch Video Solution

215. The pair of lines h(m2 — yz) + pxy = 0 bisects

the angle between the
az® + 2hzy + by? = 0, then p=
A.a+b
B.—(a +b)

C.a—2b>

pair

of

lines


https://dl.doubtnut.com/l/_TRgiDEvvQ70J
https://dl.doubtnut.com/l/_aDyChkOoWVy9

D. —(a — b)

Answer: D

0 Watch Video Solution

216. If the two pairs of line
> — 2may —y> =0 and 2% — 2nzy —y? =0

are such that one of them represent the bisector of
the angles between the other, then: (A) mn +1=0

B)Ymn-1=0(C)1/m+1/n=0(D)1/m-1/n=0

Amn= —1

B.mn =1


https://dl.doubtnut.com/l/_aDyChkOoWVy9
https://dl.doubtnut.com/l/_La9T2GrAxjul

+==0

1
m
1
i —0
m

1
n
1
n

Answer: A

° Watch Video Solution

217. If one of the lines of

2

my2 + (1 — mz)xy — mx” = 0is a bisector of the

angle between the lines zy = 0,then m is

A 2


https://dl.doubtnut.com/l/_La9T2GrAxjul
https://dl.doubtnut.com/l/_hNt9Y0omVEu6

Answer: D

° Watch Video Solution

218. The product of lenghts of the perpendicular

from point (2, 3) on the lines given by

222 + 6zy —y> = 0is

7
A ——
9/5

7
B. ——


https://dl.doubtnut.com/l/_hNt9Y0omVEu6
https://dl.doubtnut.com/l/_yysEAyPQTJGn

Answer: D

o View Text Solution

219. The product of legths of the perpendicular

from point (4, 1) on the lines given by

3z? —dzy — y® = 0is

312
a 22

31y/2
B. T



https://dl.doubtnut.com/l/_yysEAyPQTJGn
https://dl.doubtnut.com/l/_XRalJ9aLOm1D

Answer: B

° Watch Video Solution

220. The equation of the bisectors of angle between
the lines 2 — 4zy + y2 = O'is

Az+y=0

B.x —y =20

C.7c +8y =20


https://dl.doubtnut.com/l/_XRalJ9aLOm1D
https://dl.doubtnut.com/l/_Ze9Ts3OnbPXf

D.7z — 8y = 0

Answer: B

° Watch Video Solution

221. AOAB is formed by the lines

z? — dzy + y* = 0 and the line AB. The equation
of line AB is 2z 4+ 3y — 1 = 0.Find the equation of

the median of the triangle drawn from the origin.


https://dl.doubtnut.com/l/_Ze9Ts3OnbPXf
https://dl.doubtnut.com/l/_4LgSaLwEm95Q

Cilz+y=20

D.7z — 8y = 0

Answer: D

° Watch Video Solution

222.9.y If two sides of a triangle are represented by
z? _ Ty + 6y> = 0 and the centroid is (1,0) then
the equation of third side is

A2c —Ty+3=0

B.2r + 7y —3 =0


https://dl.doubtnut.com/l/_4LgSaLwEm95Q
https://dl.doubtnut.com/l/_u3ltwxjCxA0M

C2x —Ty—3=0

D.2z +7y+3 =0

Answer: C

° Watch Video Solution

223. Orthocentre of the triangle formed by the lines
xy=0and x +y=1Iis

A(—1,1)

B. (0, 0)

C.(1,0)


https://dl.doubtnut.com/l/_u3ltwxjCxA0M
https://dl.doubtnut.com/l/_DlwzhQnr0QLI

D. (0, 1)

Answer: B

° Watch Video Solution

224. Orthocentre of the triangle formed by the lines

322 +8y—y*=0and z + 2y — 3 =0is



https://dl.doubtnut.com/l/_DlwzhQnr0QLI
https://dl.doubtnut.com/l/_UjRs5Fr1LNwa

Answer: C

o View Text Solution

225. The angle between

zd? +dzy+y> = 0is

-1 1
A (53

1 -1
o (3. 5)

1 1
<(5:3)

D. (3, 3)

Answer: C

the

lines

f


https://dl.doubtnut.com/l/_UjRs5Fr1LNwa
https://dl.doubtnut.com/l/_wiJo4VpyfCqO

| o Watch Video Solution

226. The coordinates of the orthocentre of the
triangle formedby the lines 2% — 3zy + y° =0

andx +y = 1are

A 35 25
"\ 36’ 36

o (2.5)
36" 36
(2.2
367 18
o, (2.5)
18’ 36
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wiJo4VpyfCqO
https://dl.doubtnut.com/l/_3lTLnkuIMbJa

227. The orthocentre of the triangle formed by the

lineszy =0andx +y = 1is

A. (0, 0)
B. (1, 0)

c.(0,1)
. (52)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3lTLnkuIMbJa
https://dl.doubtnut.com/l/_ZwzDGgHwSxWI

228. The diagonal of the rectangle formed by the

lines z? — 7z + 6 = 0and y*> — 14y + 40 = O'is

Abr—5y—14=0

B.6x — 5y + 14 = 0

C.bhr —6y=20
D.5z + 6y =0
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VeCkAnJlECxg

229. If pairs of opposite sides of a quadrilateral are
2> —Tr +6=0 and y?—14y+40 =0 then
equations of its diagonals are

A. 3622 — 25y — 2522 — 350y + 784 = 0

B. 36z + 25y% — 252z — 350y — 784 = 0

C. 36z — 25y% — 252z + 350y — 784 = 0

D. 3622 — 25y% + 252z + 350y — 784 = 0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Nl7XXHzyxwvr

230. If the lines represented by
22 —5zy+ 2y =0 be the sides of a
parallelogram and the line 5z + 2y = 1 be one of
its diagonal. Find the equation of the other

diagonal, and area of the parallelogram .

72 sqg.units

1
' 54

1
' 36

1
18

sg.units

sqg.units

sqg.units

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rsqVoB6RQ8iM

231. The centre of circle inscribed in a square
formed by lines
z? — 8z + 12 = Oandy® — 14y +45=10 is (4,7)

(7,4) (9,4) (4,9)

(b2)
(:2)

C.(4,7)

D. (7, 4)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rsqVoB6RQ8iM
https://dl.doubtnut.com/l/_k5RUn7NGAjmj

232. The angle between the pair of lines

xy —6x +5 —30=0

A.30°

B.60°

C.45°

D.90°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_k5RUn7NGAjmj
https://dl.doubtnut.com/l/_WZNbtJQ3pRIY
https://dl.doubtnut.com/l/_nlmZOXBYVFzV

233. The angle between the pair of lines
3z —4)"+43(z —4)(y+2) -2y +2)°=0

IS

° Watch Video Solution

234. The angle between the pair of lines
(x—3)%+(z—3)(y—4) —2(y—4)* =0is
A.tan_1(2\/§)
B.tan ' (2/3)
C.tan '3

D.tan"!( — 3)


https://dl.doubtnut.com/l/_nlmZOXBYVFzV
https://dl.doubtnut.com/l/_VneCGLcEA5V2

Answer: C

o Watch Video Solution

235. The acute angle between the line represented
by9:132 —6zy+ vy’ + 18z —6y+8 =0is

A.30°

B.60°

C.45°

D.90°

Answer: D

f ) |


https://dl.doubtnut.com/l/_VneCGLcEA5V2
https://dl.doubtnut.com/l/_CfCGvWzyhs8U

| o Watch Video Solution

236. The acute angle between the line represented

by2z® + 2y —y* +x +4y — 3 =0is

A.tan" '3
B.tan !5
C.tan™ ' (24/3)

D.tan ! (2\/5)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CfCGvWzyhs8U
https://dl.doubtnut.com/l/_jOswkVYz1ZUL

237. The acute angle between the line represented

by 22? — zy — 3y® — 6z + 19y — 20 = Ois

A.tan"!( — 5)

B.tan ' (5)

C ta,n_1 E
| 2
5
_1 e

D. tan <4)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ti0xFTGkq9l0

238. The acute angle between the line represented

by z? — 6zy + 5y* + 10z — 4y + 9 = 0'is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oJqYihu5aaB3

239. The angle between

the pair

222 + 5zy +2y° — 3z —3y+1=0is

A. tan_1

VR
o ok Ol o

B.sin !

C. cos_1

N N

D. tan_1

Answer: C

of

lines

o Watch Video Solution



https://dl.doubtnut.com/l/_Cysx4lk83434

240. The angle between the pair of lines
222 +dzy — 2y° + 4 + 8y +1=0is

A. 45°

B.90°

C.30°

D. 60°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0LpPjbVLocGP

241. The equation
z? — 3zy+ M2 + 3z — 5y + 2 =0, A € R,
represents a pair of straight lines. If 6 is the angle
between these lines, then cos ec’f =

A. 10

B.9

C.1

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4RFqmapxS5iN

242. The acute angle between the line represented
by9:132 —6zy+y>+ 18z —6y+ 8 =10is

A. parallel

B. perpendicular

C.intersecting

D. intersecting and perpendicular

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UllKqAyXyTgg

243. The acute angle between the line represented
by 2% — 6zy + 5y° + 10z — 4y + 9 = 0is

A (2,1)

B. (1, 2)

C.(2, — 1)

D.(—1,2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fzv4wObSyxOL

244, The point of intersection of the

represented

22 —xy — 3y* — 6z + 19y — 20 = O'is

Answer: D

lines

by

° Watch Video Solution



https://dl.doubtnut.com/l/_TDTQCTWrOwVB

245. The point of intersection of the lines

represented by 22 +zy—y+xz+4y—3=0is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XCPuWBydzZas

246. The point of intersection of the lines given by
6x2 + zy — 40y* — 352 — 83y + 11 = O'is
A(—3, —1)
B.(—3,1)
C.(3, — 1)

D. (3, 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RonES4Ce6Puh

247. The point of intersection of the lines

represented by

(2 —3)°+ (z—3)(y—4) —2(y — 4)° = 0is

A. (4, 3)
B.(—4, —3)
C.(3,4)
D.(—3, —4)
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1Ckt4FCUGHtL

248.If \x? — 5zy + 6y° + z — 3y = O represents a
pair of staight lines, then their point of intersection
is:

A(—3 —1)

B.(—3,1)

C.(3, — 1)

D. (3, 1)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hyVpbTzF2nSw

249.1f (1, k) is the point of intersection of the lines
given by 22 + bxy + 3y* + 6z + Ty + 4 = 0,

then k=

C.1

D. 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ns7oNbljQyUx

250. If the lines
2’ —y* —2x+2y=0and z+2y+ k=0 are

concurrent, then k=

C.1

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CNO8OJE4T92L

251. If the lines
22% — 5y +3y° +8z — 9%y +6=0 and

kx — y — 5 = 0 are concurrent, then k=

A —9

B.9

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oeOe3Xv6BXIX

252. The point of intersection of lines represented

by 2z + dxy — 2y° +4x +8y+1=0

2 T)

|
w

I
—

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kKYwAWIHp8A7

253. The distance btween the parallel lines

9w2—6wy—|—y2—|—18w—6y—|—8:0,is

g~ gl gl gl-
o o o o

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZeiFbd5sNqv5

254, The distance between the parallel lines given
by 2% + 24/2zy + 2y* + 4z + 42y +1 = 0is

A 2

B.2,/3

C1
2
1

D. ——
2+/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WPud5c97vVWR

255. The distance between the pair of parallel lines
z? —|—2zcy—|—y2 — 8azx —8ay—9a2 =0 is 252
then a =

A. ba

B. 10a

C.2v/5a

D. 5/2a

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aPJgF0KmcmoK

256. If the distance between two parallel lines given

5
by 22% + dxy + 2y* + 2kz — 3y + 12 =0is — ,
V2

then find the value of k

A5
B.7
C.1

D.9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Jv7XH7Gr5JjY

257. The distance between the lines given by
(z — 2y)® + k(z — 2y) = Ois 3, then k=

A. £6./5

B.+3,/5

C.+2,/5

D.4+9,/5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rOxc1OeYommh

258. Select and write the correct answer from the
alternatives in each of the following :

If an equation hxy +gz + fy + ¢ = 0 represents a

pair of lines, then ......

A. fg = ch
B.gh = cf
C.fh = cg
D.Af = —cg
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EYnyl3iFiknf

259. If the equation az’ + by2 +cr+zy=20
represents a pair of line, then

Aa+b=20

B.a+b—c=0

Ca+b=0,c=0

D.a+b+c=2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ODhtBCTmcvwh

260. If the equation ay® + bzy +ex +dy =0
represents a pair of line, then

Ae=0,a=0>

B.e =0,bd = ac

Ce=0,d=c¢e¢

D.e =0, be = ad

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_iHhUc09Iilhm

261. If the equation
Az? + 2Bzy+ Cy* + Dz + Ey+ F = 0
represents a pair of lines, then B> — AC =

A0

B. >0

C. <0

D. #0or =0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rFC6VDRZPm0N

262. If kxy + 10z + 6y + 4 = 0 represents a pair

of lines, then k =

A.0

B.—15

C.5

D. 15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OcbpTnMWHw3S

263. If the equation 4z’ + ky®> +8zy—9=0

represents a pair of line, then k=

D.9

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4QiNSYD4tpBu

264. If the equation kz®—y? +4z—y=0

represents a pair of line, then k=

A 4

C.16

D. —16

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EydGMFZJmfuA

265. If the equation
3z% 4 3y* + 10zy + 16y + k = 0 represents a pair
of line, then k=

A. —16

B. 192

C.—12

D. 12

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_vxymQbjvb9KX

266. If the equation z? —y? —xz —ky—2=0
represents a pair of line, then k=

A £t3

B.+1

C.£22

D.4./3

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_2IvPaZVQsv9E

267. If the equation
2% + dzy — 2y® + 4= + 8y + k = 0 represents a

pair of line, then k=

Al

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vpUfE89tDBwQ

268. If the equation
z? + 3ry + 2y2 + a — y + k = O represents a pair

of line, then k=

A —12

C.6

D.12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JjlkvUK5hiyX

269. The value of k so that the equation
1222 — 102y + 2y® + 11z — 5y + k=0
represents a pair of linesis —2(b) 2 (c) 7 (d) —7

Al

B.2

C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0JbvuOdPbbNt

270. If the equation
3z? + TY — y2 —3x+6y+ k=0 represents a

pair of straight lines, then the value of k, is

A 4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IVDmj7GHVQE0

271. If the equation
2% — 3zy +y* — kx + 5y + 6 = 0 represents a
pair of line, then k=

AT,8

B.—7, —8

C.—7,8

D.7, — 8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bLC4sxp9IJsR

272. If the equation
222 + 8y + py2 + gz + 2y — 15 = O represents a

pair of parallel lines, then

Ap= —8,q= —1

B.p=8,qg= —1

Cg=28,qg=1

D.p=8,q =
Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_L1sO86KD6JB5

273. If 202 +dzy —py’ + 4z +qu+1=0
represents a pair of mutually perpendicular lines
then

Ap=2,qg=0,4

B.p=2,q=0, — 4

Cp=2,q=0,8

D.p=2,q=0, — 8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WsNtTMrk6NXM

274. If the equation
pr? —8zy+ 3y  + 14z +2y+q=0 represents a

pair of perpendicular lines, then

Ap= —3,q= —8

B.p=3,gq= —8

Cp= —3,q=28

D.p=3,9q=28
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Kaw8ardZvIna

275. If the equation z? + pyz + qy — a’=0

represents a pair of parallel lines, then

Ap= —1,qg= =1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gMjcEMh1bTeY

276. 0(0,0), A(1,2), B(3,4) are the vertices of AOAB.
The joint equation of the altitude and median
drawn from O is

Azl+Tey—y2 =0

B.x’+ Tay+y*> =0

C.3z° —zy—2y° =0

D.3z% + zy — 2zy = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ekP9xY6EVKXA

